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For edch qugstlon from to ’%O four optionis are given. One of tham ii‘ the corredt
answer. Make your choice (1, 2, 3 or 4). Shade the corvect ovai {1, 2, 3 or 4) on
the Optical Answer Sheet pr'owded.

1. One of the following m“f(VIlIGQ which All carried out made use of sl his
senses of touch, smell, sight, taste acd beardng. Wnish ong of the
following is the activity™? -

13 Playing combuter games

/ YIng ,

(2)  Eating grilfed food on a hotplaie

(3)  Eatling a strawberry-flavoured jaily

(4 Reading a book w;uzﬁ- hisiening w music
g g

2. Electrical energy ¢an be converted inite CHEHOY
A sound
B light
C heat
D Kinetic
E solar
(1) B and Conly
{(2) A, Band Conly
(3) -A,B,CandD om\
4y ABC Dandc

3. Whiich one of the following siztemeants about Hiction is aot rus?

(1) it exists bewwean hwo surfacer in nuniact.
2y HEE change the direction of & m:
(3) It depends on the texture of the g
(4)  ltis present when an object moev

t,(( U —~

4. Which of the following possess potentia! anergy

A A fully charged car battery
B. A bowling ball rolling on the lans
C A flower vase f2liing from a shelf
B~ Awound-up musical box playing music
= A revolving tan

W) A BandDonly
2. A Cand D only
&)Y A B, CandDony
HL A/ B, C,TendE



fur identical weighte, A, B, C and {1, were

ng above four ideniicat nails driven 1 em into the

crarm DRy,
suspended rom the
Wooden Sleck,
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6. Study the animat classification charl a¢ shown below carahuily,

Animal i
i
__——v.i_- U |
b -
! ‘ |
I._.——_;ﬁ.__,_. ey . - —___,L:, e ey
| ' i H
A ‘ B &
j ! :
N . o S ]
T ! g
Whale [ { Scallop P Molly
Platypus Crab j g God z
Bat Oyster | Shark |
SR e S
How are the above gnimals classified?
'N\ according to their habitats
' according o their movemant
(3; according to thelr outer covernngs
Y\K;% according o how they reprodi.2
-

7. Inthe diggram below, s screwdriver s
least effort.
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Which one of the tollowing best desaribes tha position of wherz 1he foree
is applied, where friction is present and wheye the giiact of roree is soen’
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Study the Venn diagram as shown below.
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Four similar magnats were placed in the centre of 4 Doxes made of
different materials, W, X, Y and 7, egch of tha same thickness. Whan a
paper clip was placed 3 cm kom each box, the ohservations weaa
recorded in the iable betow.

magnat
]
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Box i Did the paper clip move towards the box? |

W Yes i
X No i -

Y Yes o !

i Yus i

What is Box X most hken made of ?

Plastic
Cobalt
Copper
Titanium’
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N
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00 The dugram belvw shaws & homan skelefon,
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faceording to therrabily 1o move,
Moion of the foliowng pads of the body, A, B, G, D, E and F regrasent
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11, Study the concept map below carefully,
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Which one of the following pairs best teprasents A and

| A
) | refrigerater
electiic dril .

_telephone,




up an etactsoa oiycull as shown balow,
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13. A group of pupils carded out an axperiment to find out how the Torce
applied to pulf the toy car up the ramp vared with the height of the ramp
as shown in the diagram below, They varied the heignt by changing the
number of the biocks.

spring
balance

toy car

T

-

Which one of the following graph beut tiustrates their rasulis?
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. Far Questions 14 and 15, rafar fo the diagram as «hown below.
The diagran shows Ball A and Ball B on a snooker iabis.
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14. Whear Bzl A s hE towsrds the stationary Bl B in the diraction 23 shown,

St ~Ey, T TIed B3 ~
inwhich dirsction wit Bail B Kely move
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15, On biliing Balt B, which oneof the foltowing best describss the energy Ball

' Chemical | Kinetic | Heaienergy | Sound
¢ polentini | energy | i energy
b energy 'i !
' = - .
4 } 5 . f . ' ! i
SO ¥ - . e o s i
(21 i Y v
£33 A i- N 3 i S
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16. A group of primaiy six pupils wanted to find aut how fast watsr could pess

through four types of soll. They set yp the experimant as snown in the

. diagram. They measured the time taken tor the water o pass hwough
each fype of satl.

water -
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maasimng ovhinder
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) frecorded the rasuits in the tabie as shownh bhailow.
Fhey recorded the rasuits in the tabie

[ Tvpe of soil R B ‘:
rTime taken (seconas) 80 § 42 .‘ 24 e

Which type of soil ig the most suilatie far & partizlly submerged plat
which grows welt in a pond? :
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The distram below shows the populations of two watar plants, X and Y,
fusz..x 1 2 pond community.

dwas o

ne population of wates plant Yy degrezsed when the
O UETn { reached a peak. ]

; aotors could ha\ 2 ted {o the decrease in the
po Dumm~~ of water %:*A YV as a reault of ths increased population of water

A LAtk of spE

R Lack

O Lack of ¢

£y Lak of iz NaTEL
TR Aand B only \k B and D only
3 GandD oniv £ AR Cang D



18.

~3) Thecageinf 7 had the lezst nomber of

aoin
(W3 I

In an experiment, 3 cages were lowered mto ponds W, ¥ and Z. Eac
cage contained the same numbar and the same type of fish and was lined
with nets. The number of fishes thal were afive in the cages was counted
over a period of & days. The resuits were as shown in the grapn below,
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Which one of the statemeants ahout the recuiis is frue?

gg

PAatal
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10, Stugy e fond web sz ghiown balow, Ths lattere P o T reprasent
different types of organiams,

I the enire popuiaton of Qs destroyer, which of the following are iikeiy
if’ H "1§ 55‘1 :’

2 wauld dacreass in oumber.

B would incraase in nu ”?b@r

'

hey

¢ T would 2at mor of R and S.
D Swould have faower mmpetxtors Fyr rond.

&) Aoand Boony
.\5 \./ \)Hd E. e }

f‘ and € oy
@ ACC and Donly
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o . A A .‘-» . T PR S X PR 3 Vare
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= abiats,
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Whick cnie of ha folowing observations bes! desonibes habitsis 4 and B?

-
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21.  Look at the food chain in a fresh wate; pond as shown Lelow,
Plants —————= wWOIrms ——-~— water bepties ———— fish
Which one of the foliowing graphs shows ihe (Kely size ¢of the four
populations in a balanced freshwater pord commuonity?
0

Fish

Vater beelles

Worms N .
Plants ’} -
MNUmber of ofganisms
3) | . & T
Fist §\§? \;\“\‘S@ Fish )gg\‘i\};\\i\\_\_\
Waler bee'les %}i}ié;;-ﬂ l,L&*L‘E—;EL:E ater popllas F_ e

Woirns

an F OrgEnisEs siuster of arganisins
Jmiber of Lrganiems sumiber ol arg
N0

1%



22,

Faut pought thves different types of animais X, Y and Z fram a2 pond and
pu' them In two awariums A and B, He put apimals X and Y in Aguanum
Ao znd animals Xoand 2 in Aquarnum B. He also put some plants in both
aguarms.

Ho pounted the nuraber of animals i ibe aquariums every week for 2
monih. He did het ses any dead anima’s in hoth the aguarivms. His resulis
are 28 hown in ihe granhs below.

. K i AT L va - s T b,
Nurshe of snwnabs Nismher ot animais
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23.  The graph below shows the population of mice and goshawks in a jungia
The goshawks, which eat mice, rabbits and amail birds, first dmved mn i,he
wood in 1990. The mice eat seads and buds.
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Year
What could be the possible reasonis) for he changes o1 ths mice
population batwaen 1984 and 1 990?
A . The rabbits wera eaten D} : '-‘haa-v‘k%‘
B Therewers extrama chang the waather,
& There was a “hame i “1—3 31’)!’1 size OF GOshawks.
D There was achange in the rer 0f seads and tuds avaiabls.
(1Y  Conly - (2 Aand 8 only
(3) B and D only : &) Cang D on'y
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24, Study the classificatesn table as shown below

" - s

e 5

; Simple Machines

e ; imm : -
Groap X ; ‘ Group Y » { Group Z
: |
| |
e eemrams e L i
door kihoh : lce tongs { spade
{
| | |
screw driver i fishing rod axe
% i
cai steering 1 P M % | N
i wheel !
b : i .
Al the ablacts drciudirg M and N ar-3 ued according to the diiferant

o
- )\
’—" X-
o
£y

typas of simple machines, Which of th ,-\'ni_; statemt‘rxts are trug?
A Doject Noran ba a knife.

B (Sblect M can ha 2 broom.

i Group Y, *r’ effort used is smallar than the load.

in Group ‘« the dictance moved by the affortis greatar than the
gistance moved by the load

e Aand Condy
<
{

= SandDonty
(8, Band D only
(B, AR Cand D



e diagram below shows a big gear whichiis i dontactwitna smajler =

251
T gear,

number of turns & small gear and a biy g

i fures T ,
{1) Numbelrlm flies '\.4} Numperof tums
QN smal geor o0 smnl caee
‘k . o=y

/ | -
Nuraber of iz
or big gear

Y At e e

) Number of fums i} Numbsi gl ums
an small gewy v sl g
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26,  The potore helow ghows a metal ball and ring apparatus. The ring was big

bvd

endugh for the hait fo pass through at the start of the experiment

What shouid be dona 1o the metal ball and dng ap paratus to prevent the
Dol from g:.ass;r'f’ freough the nng?

{1 “T“e\- ring should be dipped into hot water.

(2 (e hall shovld be dipped into cald water

(3 Mk, ring shiouid be beated over a nunsen bmner.
4y Tha bail should be heated over £ punsea burmer

27, Abirpiality stifp was made of 2 pleces of different metal, b 38 and stest,
© honded together as snowirbelow,

nrass

The imtaly straigid hi""'-‘ﬂiaiﬁt‘ strip wag then naated evenly in an oven for
teny minuten. Giver that brass expands more than steel, which one of the
follewiny alagrams \:..*zg*/\-'\.._-.the pimetallic strip afierit had been heated?

IER 73
i Ii Y
s L
{‘j} 4“/.‘\,
N = A}
IO OO M v




28.

29.

Study the diagram as shown below.

e

------ container  poee

30 om * of aif was punmed nto a motal container of vowme 250 o
through the inlet at point A, One minute fater, 50 " al
out from the contamer thraugh the cutial &t pgmta

What was the final volume of air in the conbainer?

(1)  20em* ‘2 KHEY
(3)  230cm’ {4) 250 em

Jonathan brought out 2 bow! comtainirg S ion cubes from the freezi..
What should he do so that all the e cubes would mal in tha shortost
possible time?

™) Leave all the & ize cubes in o bowi.

12)  Spread sawdust over the 5§ ive cubes,
(3) . Crush tnem and spread tha smaifer pic
i) Crush them and put the smalier pr

s ofice ;’:bee' arta sy
4 1
1 }

ofine cubies in & mea

3C.In the forest, the cain tree obtains energy from the

(1) sun

(2)  rain

(3) fung

(4y  leaflitter

Siey
Ao



Seufion B {40 marks)

Wieile yaur answers o auastions 31 to 46 in the spacas provided,
Marks will be deducted {or misepell key words.

hac ap(: Hied aome n; cream on h\ R mit‘ 7'\‘5 trted fo 'W‘k uo “\e samp
giass, it sinped ir:r.,_\-vgh ner fingers.
Exntzm why the glass stipped through her fingers, {1 mark)

(bY \Whast must be grogent on Mrs Lim's fingess to enable her to hold the dry

i
glass nhe fiest "'53‘" ? {1 masii)
34, The dizgram wﬂw s shows the human \‘f inestive system,
‘ ——— and label the 3 paris of the divastive sysiem
o) t"ﬂ.d 1% gnmaiag, {3 _.'r.,g,rvg\,



33(a). The diagram below shows a car going up & mountain.

(i) Using an arrow labelted F, indicate where friction is sxperienced by
the car. (1 mark)

(i) Using an arrow labelled G, indicale where gravity is experienced by
the car. M mark?

(b). Why is it more difficudl for the car to go upial than downhil? {1 mark)

e
1%



34,  Study e flowchart as shown below.
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35, Different weights were hing on the samea Spang and e resu'ts wars
recorded in the two graphs as shown balow. The first graph shows the
refationship between the length of the spring and the weight, The second
graph shows the relationship between the extension of the spring and the
same weight.

A
Length of
spring (cm) T

- -"w"/“/‘_
/),»’ e
” J'//
.7 /
L, e i sn o e eyt e

0 20 10 Weight {5}

E
Extension of
spring {em)
2 5 ------------------------------------- e
o ,
»»;.»"j - <
: /_./ - t
— L~'---I~—- 7 '
b I ~/-;l:’,/ 1
Loz j N e

0 20 on Weight (g

0 Mhat is the original tength of the spring when there i nojoad? ( mark)
(if) Find the iength of the spring when a 7og weight is hung on the same
spring. L mark)
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37 Arock was dropped from a height of 100 m.

k_)
A
100 m
N
!
|

Draw in the space balow a graph to show the gravitational potental
energy of the rock at diffarent heights. (2 misree)
A
Gravitational
potfential
energy

e 3

—--._b.
0 00 Height {m)

24



38.  The diagram belyw shows 2 solar pana's, ane on the rooftop of a house
zod another on & 025 10 which a fan 3 attached.

.;/
b1
e 1,?\‘

ra
¥

house C

(SO

L o aa L

Stz i anergy conversion of the seizr paneals on tha rooftop and that of
the sor-powsiaed nap. ~ _ {2 marks?

hY ~ - . gm S e R » .
{a3 Sotar paneta on e roofiop:
AN i -~ -4 N o
(o) Solarpowared cap
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39.

A group of primary six pupils wanted o find gut the changs in temperature

in three different habitats. They measured the temperature at six-hourly
intervals and recorded their findings in & takle as shown baloy.

Time Tomperature (" Q)

~Pond Habitat

6 a.m 24.0 { 23 254
12 noon 28,0 : 2.5 i 270
5 26.0°
)
A\D

i
!
3
1.
JRRUNIUINS: S SO

L_12 midnight |

{8}  Which habitat has the smaliest raings of ter

Explain how the hahitat mentionga in (a) iz able to maintain the
smallest range of temperaturs. (1 mark)

(b)

. R - e £ T L e S e A e i e A At

() Predict fhe tempefature "Xin the op

‘)



403.

Matthew wanfed fo find out whethor duckweeds grow well in water
containing bieacn. He used two BUOm! beakers for his experiment. The
contants in beaker 1-are as shown in the table below. Me st up a controf
UsIngG beaker 2.

{2r  Complete Pz table below to show how ha should set up beaker 2

h) ke in order to comipare how well the
: (Tmark;

fod
5

i i Riaa N R R P
; .- Bleach I fapwater | Duckweeds of
P j | the same siza |
E Tt - i 'y ; p; s /
 Conterds in | 10 mi j 400 m 50
i i { I
I8 - ! i

, . [ _
D Hoakar ; s ;
- e R . e e, N
P oontents in : :
o 4 ;
~ “ ey ! ;

| Regikar 2 (contre) | : 3
s‘_ e L. — !

Ind



41.  Place the following food consumers and the: feod producer corractly in the

food pyramid as shown below.

Grasshopper
Snake
Maize
Mynaki

{1 mark)

AN

«
.
N
, - “
RN
N
by TN
.// I\ )
/z' \".
~
/ .
1‘/"‘) ‘‘‘‘‘ \\\
pd .
./‘"/‘ \‘\
/ Ny
A

J""}I I e \‘\
A deadly virus killed all the 3 populasions of the animal 2
v -~y

possible reasons why the population of maize would i
popuiations of animals disd '

| Reason(s) Eyplanation o
L R _ |
. |

* 3

f

i

1

i

i i
s e e —
(4 —_i
|

,
[ 5]



Flarange put some guoples into a tank conitaining some water enails and
wbifext worms, Diaw g graph in the ¢pace provided below to show the
change in the popufations of the water snails and tubifex worms by the

endd of the day.
(2 raarks)
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43. Karen used three ditferent simpie machines X, Y and Z fo mave different
loads. She recorded. the weight of the load, the amount of effort used and
the distances moved by the effort and ioad each time. Then she plotted
the following graphs as shown below.
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weight of f2ad (kg) Sistange moved ty the load {53
Graph (A) Grapn o)
(2)  Give an example of a simple machine that ¥ could reniesent.
Cimark)
(b)y  Basedon Graph (A}, compare the anount ot effort usad when
Machines X and Y were usad to move the same [cad.
[Tmark)
{c) Whioh one of the ahove simpia machines would Wafen (ge if she
anted: (i) to do work faster and (i) 1o carry heavy lz;vds‘?
I mark)
(1 To dowork faster : Machine
(i) To carmy neavy loads e fagiy: NMzere



44, I an experiment to combare the prope: ties of water and air, two identical
flasks waere fillad witr water and atcin the sebups A and B as shown in the
diagrars velow.

I gless —.d|  pelietol
E tubig s " cotourad

) ; \, fquid

ronouires

A

set-up B

Setups A and Bawers then placed infe a lank contaiing warm water at
the samie tme. Tha water level in the ¢ 254 f20ing of SEFUY Awas seeh to
nse very slowly. The colowrsd pellet i Zel-ip B rose up the glass tubin

)
7 Lok

VeIV (EIdiY.

{2y What conclusion could ba made Som t‘ :—‘ahOVB experimant?
I NN
, ‘n,ai }

e 1. e A NNk e e N 4 - PSPV URPEN
A nn nan s A AN LN ot ot e e e e i A

£y Suggest one rhangs thal could be mads o Setup A to speed up
the vise of wata, lavel in the glass tubipg™ 1 mark)




45.

(a)

(o)

Jaitne dropped a iump of plasticine into a beaker of water and found
that the water leve! rose to the 60-mi mark. She then took iha plasticine
out of the water and flattened it. (Assuming no water was 1ost.}

plasticine

-

Latar, she dropped the flattened: piasiicine into e aninly flask, as
shown below. If she poured the watai {ram the deaker ghove wto the
conical flask, what would be the water leval in it? Draw the water leve!
in the flask beiow. timark)

|

§ 1

fiattened piastcine

What does this experiment show? \ {1rnark)
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48, Susused Hio serup h*ow to find mfwmnk\!!res }\’ Y and Z, could
peal up the water the fastest.

' insulated
~ COPPEE Witk

berere, - s dap water

Tha temparalirs of the water was taken atier every 5 minutes snd the
graph belowshows the result of the experipent.
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(<3 Whahwas the energy.source it @ach set-up? {tmark)
Ay Name twe vanables Sue must keep the same throughoul the
axperrani o ensure a fair test, (. marks)
e [END) OF PAPER s i
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effort is needed.
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duckweads grow in the ty

41} Snakea
Mynah
Grasatioppey
Maize

i) The food cevaumeres would decompnss and becone notriente
in bhe esoil Fer vhe maize plunts £0 grow.

11) Thare avre ne plast eaters to fezd oa the maize plants.
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44) a) Alr expands Ldster than water vhen heated.
h) sz a narvover ube,

a soild
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1Ly The voluawne oi the battevries,



